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SN BRE
3

b
Ha: ey 2
b S - &

s
o Ot S - A2 B35 (&2 &2
2N -3 - c2(3H) - NEME - HES Ol & J &= Hns
SHFLS 3,980, 130 3,762,645 217,485
= 217,057 217,057 0
T 8,305 8,305 0
iy 3,754,768 3,537,283 217,485
oEd 25 419,614 359,416 60, 198
= 145,000 145,000 0
& 2,275 2,275 0
= 272,339 212,141 60, 198
ot s - M2 B3 419,614 359,416 60,198
= 145,000 145,000 0
== 2,275 2,275 0
iy 272,339 212,141 60,198
cErgd 4329 60,198 0 60,198
101 Ql244| 12,798 0 12,798
10 JI2HH22HsSE S 12,798 0 12,798
o YE A2 L UHZAA
35,000 * 69 * 55¢ 11,550 0 11,550
o A BEE2 = 11,550,000 * 10.8% 1,248 0 1,248
201 LBt H| 42,000 0 42,000
01 AtR22ldl 34,300 0 34,300
< YBt=2H| > 0 0 0
o =gol EE= M 8,000 * 1,0000H 8,000 0 8,000
o gotl E3tE M= 60,000 * 200K 1,200 0 1,200
o AN - 22X EXE M
20,000 * 40094 8,000 0 8,000
o Y& BSANL 22X S A2UE2E R
100,000 * 50 * 2& 10,000 0 10,000
o =YY ZHHOIYH MH(SII22)
3,000,000 * 14! 3,000 0 3,000
< mlsdl > 0 0 0
o 8& ZANA 2 200,000 * 10H 2,000 0 2,000
< = Ed| > 0 0 0
o I 2Y LAHRF=A
7,000 * 109 = 15 = 2& 2,100 0 2,100
02 S==294l 7,700 0 7,700
o LEE0E U458 2E7Y 250 * 8000H 200 0 200
o £FZ 22| HHAALS Jiel
15,000 * 500 7,500 0 7,500
202 O4Hl 2,400 0 2,400
01 Z2WdHYI 2,400 0 2,400
o =& 2Y ZAYRFA
20,000 * 49 = 15& * 2& 2,400 0 2,400
301 LEtEAS 3,000 0 3,000
12 JIEtE &2 3,000 0 3,000
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SN BRE
3

b
Ha: GoEy 2
b S - &

CHel: Ol S - A2 25 G M
2N -3 - c2(3H) - NEME - HES agel pjEsifon =&
o QIS CHR Z+2|Q1 AlH|E A
500,000 » 3% * 22 3,000 0 3,000
HIIE ¥ HAa 1,895,685 1,694,100 201,585
= 68,977 68,977 0
[ 3,030 3,030 0
= 1,823,678 1,622,093 201,585
HIOIS™M2IAlE 29 % s= 1,600,740 1,406, 164 194,576
HII2 MelAad 2922 1,184,184 1,184,184 0
207 1 ROH e 5,000 5,000 0
01 g2 5,000 0 5,000
o 2010. MBI A2UAIL REI2A HIE MA
5,000,000 * 14! 5,000 0 5,000
02 HAHHEHH 0 5,000 A5,000
o MYIJIHBALE QIHAIZ I JHY
3H 0 0 5,000 25,000
ZIoME2HEAIE SX ALY 194,576 0 194,576
401 Al&H| L LY 194,576 0 194,576
01 Al&H] 194,576 0 194,576
o RIEMEEMYAIA JIHRH AX
194,576,000 * 1Al 194,576 0 194,576
ZatA AL 294,945 287,936 7,009
= 68,977 68,977 0
[= 3,030 3,030 0
= 222,938 215,929 7,009
HATR| Ut 59,257 57,248 2,009
201 L2 AH| 56,257 51,248 5,009
01 AFR22lH] 56,257 51,248 5,009
o Z2UN 2EME ZA 105 * 447,7000H 47,009 42,000 5,009
301 Lt A= 3,000 6,000 23,000
12 JIEt2 A2 0 3,000 A3,000
o HIISelY A ADSBA(MIAEZ)
EPSI) 0 3,000 A3,000
9= HII2 £&22 31,750 26,750 5,000
[= 3,030 3,030 0
= 28,720 23,720 5,000
301 LB A2 31,750 26,750 5,000
[= 3,030 3,030 0
= 28,720 23,720 5,000
12 JIEIB A= 25,150 20,150 5,000
o HHIY4H HHAS(Z2HIFIH)
100 * 50,000kg 5,000 0 5,000
HES2FLH (BZESD) 1,249,359 1,293,657 A44,298
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SN BRBSD

HE: WHRYPY (HFRSI)

E9l: oSN (2Y2E ) (e &
SNBSS - MBAY - BES 01l &+ o pJE-1 HDZ
AR EH(BEES ) 1,192,751 1,237,049 A44,298
AHAH (BB ES ) 1,189,751 1,234,049 AN44.,208

101 1A H] 1,189,751 1,234,049 N44,298
09 RIIAHAZZTE 1,160, 181 1,204,479 A44,298
SAPSECP/ Falls] Z2&0 0 44,298 A44.,208
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